SR TA="1 T T =3 X~

W) a3 = PR — VIDIEREE = P~Ta =P

[R—IN—S=77DER )

iR EENY)—EEE FRI-X

—K : 5,082~k PAR72 2 2l
H72 : 2021410A30H(1)~318(8) B[ FERR
S0 : 12% BUOE 2.4m/s
N&fiz|237| FEFH | W% FhiE 1R |OUT| IN
1 -1|}EP A 75 [JU— 71 | 33| 38
-1 &% BR | 67 (HZOU-> /71 | 34 | 37
3T 0BERES | 72 |HFZFGC 72 | 38 | 34
O|lFFE =S#& | 70 |BAZ=EI32vIGC 72 | 37 | 35
5 | +1|#8 B— | 69 |JU- /73 | 38 | 35
6T | +3|lUA2AHfE | 67 |[I>YAHD 75 | 36 | 39
+3|5AK &EIE | 71 |JU- 75 | 38| 37
8T | +6(H4+) 1@ 70 |JYU— /8 | 40 | 38
+6|[EE mif | 78 |[FEEFILGC /8 | 39 | 39
10 | +7|EH 73 68 |GOG 79 | 38 | 41
11T| +9|fEfE 1E— | 73 |[ERAOR—ViRE#H=| 81 | 38 | 43
+9| 1L ER 73 |FILERIIJ{biE 81 | 42 | 39
BRESZ7A-T>RITEER

[I->>1-bEIARZHARIA. 7°EI(~> DEREEE XEFIFID

E&1 05 #H . X&ETEE
KB R 75m 71Ab0-7
/ﬁ%ﬁ/ﬁlﬁ‘ 72r% 72AM0-7

[EE Fat 78m 78AM0—7




